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lHkhlHkhlHkhlHkhlHkh iz'u vfuok;Z gSaA

Section - A

 [k.M & v [k.M & v [k.M & v [k.M & v [k.M & v

Note: Each question carries two marks. Write

your answer in about 50 words.

izR;sd iz'ukas 2 vad dks gSA viuk mÙkj yxHkx 50

'kCnksa esa nhft,A

1. Explain the following : 5×2=10

fuEufyf[kr dh O;k[;k dhft, %
(i) Restrained Golden Age

fu;af=r Lo.kZ ;qx



2 7 600

M/Sem II/548 M/Sem II/548

(ii) Twin Peak

;qXe 'kh"kZ

(iii)Embodied Technical Progress

vUrjfufgr rduhdh izxfr

(iv) Neutrality of Technical Change

rduhdh ifjorZu dh rVLFkrk

(v) Classical, Keynesian and Neo-Keynesian

saving Functions.

'kkL=h;] daslh;u ,oa uo dsalh;u cpr Qyu

Section - B

 [k.M & c [k.M & c [k.M & c [k.M & c [k.M & c

Note: Write your answer in about 250 words. Each

question carries 10 marks.

3×10=30

viuk mÙkj yxHkx 250 'kCnksa esa nhft,A izR;sd
iz'u 10 vad dk gSA

2. Critically evaluate Tobin's contention- "Under

the assumption of strict exogeneity of supply

of money, economic growth is necessarily

deflationary".

OR

vFkokvFkokvFkokvFkokvFkok
Explain how as per Johnson the inclusion of

money as an alternative asset in the asset

portfolio of the income earner and specification

of saving function significantly affect growth

equilibrium and equilibrium income per capita.

How can monetary policy be used to raise the

level of income per capita ?

iznf'kZr dhft, fd fdl izdkj vk; vftZr djus okyksa
dss laifÙk iksVZQhfy;ksa esa eqnzk dks ,d oSdfYid laifÙk ds
:i essa ‘kkfey dj tkulu lao`f) lkE; ,oa izfr O;fDr
lkE; vk; dks izHkkfor djrs gSaA fdl izdkj ekSfnzd
uhfr dk iz;ksx izfr O;fDr vk; ds Lrj dks Å¡pk mBkus
esa fd;k tk ldrk gS \
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Vkfcu dh fuEu /kkj.kk dh O;k[;k dk vkykspukRed

ewY;kadu dhft,& ^^iw.kZr% okátkr eqnzk iwfrZ dh ekU;rk

ds vUrxZr vkfFkZd fodkl fuf'pr :i ls foLQhfrdkjh

gksrk gSA**

OR

vFkokvFkokvFkokvFkokvFkok

Briefly mention features of Neo-Classical

Production Function. Giving example of a

production function that is Neo-Classical show

that it satisfies the condition of existence of

growth equilibrium.

uo'kkL=h; mRiknu Qyu dh fo'ks"krkvksa dh laf{kIr

ppkZ dhft,A ,d mRiknu Qyu tks fd uo'kkL=h; gS

dk mnkgj.k nsrs gq, iznf'kZr dhft, fd ;g le`f)

larqyu dh fLFkfr (existence) dks lUrq"V djrk gSA

3. In the context of Frank Ramsey's model make

distinction between (a) state & Control

Variables (b) Transition Equation & Objective

Function and (c) Saving in the orthodox sense

and Optimal Saving.

OR

vFkokvFkokvFkokvFkokvFkok

Explain the meaning of endogenous growth.

Critically examine Romer's model of

endogenous innovations.

vUreq[khZ fodkl ds vFkZ dks le>kb;sA 'ks;j ds vUreqZ[kh

uoizorZu izk:i dk vkykspukRed ewY;kadu dhft,A

6. Compare & contrast the models of income

distribution of Kaldor and Pasinetti. What

conditions for stability of equilibrium have been

mentioned by Pasinetti  ? Do you see any

implication of Pasineeti' s model for a socialist

economy ?

dkYMksj ,oa iSflusfV ds vk;&forj.k izk:i dh rqyuk

,oa Hksn dhft,A lkE;koLFkk ds LFkkf;Ro ds fy, iSflusfV

}kjk fdu 'krksZa dh ppkZ dh xbZ gS \ D;k vki

lkE;oknh ns'kksa ds fy, iSflusfV ds izk:i dk dksbZ egRo

ns[krs gSA
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ÝSad jkels ds izk:i ds ifjn`'; esa fuEufyf[kr esa vUrj

LFkkfir dhft, ¼d½ fLFkfr pj ,oa fu;a=.k pj  ¼[k½

laØe.k lehdj.k ,oa vHkh"B ¼mís';½ Qyu ,oa ¼x½

cpr dh ikjEifjd vo/kkj.kk ,oa vuqdqyre cprA

OR

vFkokvFkokvFkokvFkokvFkok

Explain the concept of (a) Technical Progress,

(b) Representation of technical Progress and

(c) Labour Augmenting versus Capital

Augmenting forms of technical progress.

fuEufyf[kr vo/kkj.kkvksas dks Li"V dhft, ¼d½ rduhdh

izxfr ¼[k½ rduhdh izxfr dk izLrqrhdj.k ,oa ¼x½ iw¡th

laof/kZr ,oa Je laof/kZr rduhdh izxfrA

4. "Kaldor's Technical progress function is a

means to explain process of technical progress

and replace rthodox aggregate production

function." Discuss

^^dkYMksj dk rduhdh izxfr Qyu rduhdh izxfr dh

izfØ;k dh O;k[;k rFkk ikjEifjd lexz mRiknu Qyu

ds izfrLFkkiu dk ek/;e gSA** O;k[;k dhft,

OR

vFkokvFkokvFkokvFkokvFkok
What do you mean by 'Convergence' ? Explain

the difference between sigma ( )σ  and beta

(β)

convergence.

duojtsal ls D;k vfHkizk; gS \ flXek 

( )σ

 ,oa fcVk

(β)

duojtsal ds e/; vUrj LFkkfir dhft,A

Section - C

 [k.M & l [k.M & l [k.M & l [k.M & l [k.M & l

Note: Each question carries 15 marks. Answer

these in detail. 2×15=30

izR;sd iz'u 15 vad dk gSA budk mÙkj foLrkj ls
nhft,A

5. Show that when elasticity of substitution is

one, Hicksian model gives the same result that

is given by Harrod’s Model. Also show that when

|σ >

Harrod's Neutrality is equal to Hick's

Labour Saving and for 

|σ <

 Harrod's neutrality

is equal to Hick's Capital Saving Neutrality.

iznf'kZr dhft, fd tc izfrLFkkiu dh yksp gS rks fgDl
dk izk:i ogh ifj.kke nsrk gS tks gSjksM dk izk:i nsrk
gSA ;g Hkh iznf'kZr dhft, fd tc 

|σ >

 rks gSjksM dh
rVLFkrk fgDl ds Je cpr rFkk tc 

|σ <

 rks gSjksM
dh rVLFkrk fgDl ds iw¡th cpr rVLFkrk ds leku
gksrh gSA


